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QUESTION 1

What information does eNodeB use to ensure MME load balancing during MME selection?
A. MME relative capacity value received from each MME in the pool

B. MME capacity value received from the UE attach request message

C. MME capacity value from the UE\'s subscription data received from the HSS

D. MME relative capacity value calculated by each MME based on the current network load

Correct Answer: A

QUESTION 2

Which of the following statements regarding GTP-C is FALSE?
A. GTP-C is a tunneling protocol.

B. GTP-C runs over UDP/IP.

C. GTP-C is the control plane part of GTP.

D. GTP-C messages carry Attribute Value Pairs (AVPS).
Correct Answer: C

Reference: https://en.wikipedia.org/wiki/lGPRS_Tunnelling_Protocol#GTP-C_-_GTP_control

QUESTION 3

Which of the following is NOT a benefit of S1-Flex mechanism?
A. Minimizes MME relocation in case of UE mobility

B. Minimizes the number of MMESs required in a network

C. Provides MME load balancing

D. Provides MME geographical resilience

Correct Answer: D

QUESTION 4
Which of the following regarding PM is FALSE?

A. PM counters contain system health information on a specific VM.
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B. PM counters are stored in XML format.
C. PM counters are collected on a per-interval basis.
D. A PM job is defined to collect PM counters.

Correct Answer: D

QUESTION 5

What network component(s) is/are shared in the gateway core network (GWCN) sharing architecture model?
A. Only E-UTRAN is shared

B. Only MME is shared

C. E-UTRAN and MME are shared

D. MME and PGW are shared

Correct Answer: B
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